Year 4 Word Problems

Remember

to use

Solve

heck

Answer

Choose whether to do a grid or a column multiplication

One
In the Athenian war spears
came in boxes of 5. How many
spears were there in 214
boxes?
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Two
At the Olympics tickets were
being sold for 236 drachmas
each. How much would it cost
for 8 tickets?

Three
In the Gymnasium there were
434 people training. How
many arms were there in the

gym?

Four
Arachne had four hundred and
fifty-two pet spiders. How
many legs were there
in total?

Five
A Greek Farmer had eight
hundred and seventy-two
goats. How many legs were
there in total?

Six
Poseidon had 699 pet
octopuses. How many legs
were there in total?
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Seven
Pythagoras, a famous Greek
Mathematician, drew 876
triangles. How many lines did
he draw in total?




